oS oA BP : CP = 1: 2, AABC =
8cm? Y o, AABP 9] Hlo]& otoief,

Q




2. ok 1" 7o) AD//BC Q1 A& ABCDOlA OA : OC =1:2
ot} AAOD 9] ¥lo]7} 18 € wj, nABCD 9] Yo]=?

@® 148 @ 150 ® 162 @ 175 ® 180



3. HYPAHEFY ABCDOJA AP : PC =1 :2°]2 oABCD = 60 ¥ uj,
AAPD 9] Hlo]& Fotofet,

D




4. ©e 23 HPAAFP ABCD o)A AC //EF ]2 ABCF ] Ho]7}
15cm? € o, AACE 9] Ylo]=?

A D
F
B C
@ 15cm? @ 20cm? @ 25cm?

@ 30cm? ® 35cm?



5.

2 o)A BM = MC, EM1BC, ADLBC®|t}. AABC 9] Hol7}

60cm? 4 o, DAEDC 9] Ho]&?

A
1D
@ 20cm? @ 25cm? ® 30cm?

@ 35cm? ® 40cm?



